CREAT. MATH. INFORM. Volume **32** (2023), No. 1, Pages 41 - 48 Online version at https://semnul.com/creative-mathematics/ Print Edition: ISSN 1584 - 286X; Online Edition: ISSN 1843 - 441X DOI: https://doi.org/10.37193/CMI.2023.01.05

On the Quinary Fibonacci-Padovan Sequences

ORHAN DIŞKAYA and HAMZA MENKEN

ABSTRACT. In this paper, we consider the Fibonacci and Padovan sequences. We introduce the quinary Fibonacci-Padovan sequences whose compounds are the Fibonacci and Padovan sequences. We derive the Binet-like formulas, the generating functions and exponential generating functions of these sequences. Also, we obtain some binomial identities, series and sums for them.

1. INTRODUCTION

Special numbers and the corresponding recurrence relations and their generalizations have many applications to every field of science and they have many interesting properties [17–19]. Second order linear recurrences related to Fibonacci and Lucas numbers and their generalizations are investigated in [8,14,15,21]. Fourth order linear recurrences and their generalizations are studied in [9,10,20,23]. On algebraic identities on a new integer sequence with four parameters are investigated in [24].

In [3] the authors studied on the quadra Fibona-Pell and hexa Fibona-Pell-Jacobsthal sequences.

In [9] and [10] various fourth order linear recurrences and their polynomials are defined and studied.

In [23] the author define the quadrapell numbers and quadrapell polynomials as fourth order linear recurrences.

In [20] the author defines the quadra Fibona-Pell integers sequences and she gives some algebraic identities.

In the present work we consider fifth orders linear recurrences and we define the quinary Fibonacci-Padovan sequences. We give some properties of them.

The Fibonacci and Padovan sequences $\{F_n\}$ and $\{P_n\}$ are defined by second and third order recurrences for $n \ge 0$, respectively,

$$F_{n+2} = F_{n+1} + F_n,$$

 $P_{n+3} = P_{n+1} + P_n,$

with the initial conditions are given as follow, respectively,

$$F_0 = 0$$
, and $F_1 = 1$,

$$P_0 = 1$$
, $P_1 = 1$ and $P_2 = 1$,

The first few members of these sequences are given as follow, respectively,

2000 Mathematics Subject Classification. 11B39, 05A15.

Received: 14.05.2022. In revised form: 31.10.2022. Accepted: 07.11.2022

Key words and phrases. *Fibonacci sequence, Padovan sequence, Binet like formula, generating function.* Corresponding author: Orhan Dişkaya, orhandiskaya@mersin.edu.tr

n	0	1	2	3	4	5	6	7	8	9	10	11	
F_n	0	1	1	2	3	5	8	13	21	34	55	89	
P_n	1	1	1	2	2	3	4	5	7	9	12	16	

TABLE 1. The first few members of these sequences

The recurrences involve the characteristic equations, respectively,

$$x^{2} - x - 1 = 0,$$

 $y^{3} - y - 1 = 0,$

The roots of the equations are as follows, respectively,

$$\alpha = \frac{1 + \sqrt{5}}{2} \quad \text{and} \quad \beta = \frac{1 - \sqrt{5}}{2},$$
(1.1)

$$\begin{split} \lambda &= \sqrt[3]{\frac{9+\sqrt{69}}{18}} + \sqrt[3]{\frac{9-\sqrt{69}}{18}} = p = Plastic \quad ratio \end{split} \tag{1.2} \\ \delta &= -\sqrt[3]{\frac{9+\sqrt{69}}{144}} - \sqrt[3]{\frac{9-\sqrt{69}}{144}} + i\frac{\sqrt{3}}{2} \left(\sqrt[3]{\frac{9+\sqrt{69}}{18}} - \sqrt[3]{\frac{9-\sqrt{69}}{18}}\right) \\ \gamma &= -\sqrt[3]{\frac{9+\sqrt{69}}{144}} - \sqrt[3]{\frac{9-\sqrt{69}}{144}} - i\frac{\sqrt{3}}{2} \left(\sqrt[3]{\frac{9+\sqrt{69}}{18}} - \sqrt[3]{\frac{9-\sqrt{69}}{18}}\right). \end{split}$$

Then the following equalities follow directly from Vieta's formulas, respectively,

 $\alpha+\beta=1,\quad \alpha-\beta=\sqrt{5},\quad \alpha\beta=-1,$

$$\lambda+\delta+\gamma=0,\quad \lambda\delta+\lambda\gamma+\delta\gamma=-1,\quad \lambda\delta\gamma=1$$

Moreover, the Binet and Binet-like formulas for the Fibonacci and Padovan sequences are, respectively,

$$F_n = \frac{\alpha^n - \beta^n}{\alpha - \beta},$$
$$P_n = a\lambda^n + b\delta^n + c\gamma^n,$$

where

$$a = \frac{(\delta - 1)(\gamma - 1)}{(\lambda - \delta)(\lambda - \gamma)}, \quad b = \frac{(\lambda - 1)(\gamma - 1)}{(\delta - \lambda)(\delta - \gamma)} \quad \text{and} \quad c = \frac{(\lambda - 1)(\delta - 1)}{(\gamma - \lambda)(\gamma - \delta)}.$$

The generating functions for the Fibonacci and Padovan sequences are, respectively,

$$G_F(x) = \sum_{n=0}^{\infty} F_n x^n = \frac{x}{1 - x - x^2},$$
$$G_P(x) = \sum_{n=0}^{\infty} P_n x^n = \frac{1 + x}{1 - x^2 - x^3}.$$

The exponential generating functions for the Fibonacci and Padovan sequences are, respectively,

$$E_F(x) = \sum_{n=0}^{\infty} \frac{F_n}{n!} x^n = \frac{e^{\alpha x} - e^{\beta x}}{\alpha - \beta},$$
$$E_P(x) = \sum_{n=0}^{\infty} \frac{P_n}{n!} x^n = a e^{\lambda x} + b e^{\delta x} + c e^{\gamma x}.$$

The series for the Fibonacci and Padovan sequences are, respectively,

$$S_F(x) = \sum_{n=0}^{\infty} \frac{F_n}{x^n} = \frac{x}{x^2 - x - 1},$$
$$S_P(x) = \sum_{n=0}^{\infty} \frac{P_n}{x^n} = \frac{x^2(x+1)}{x^3 - x - 1}.$$

The sum formulas for the Fibonacci and Padovan sequences are, respectively,

$$T_F(x) = \sum_{n=0}^{m} F_n = F_{m+2} - 1,$$
$$T_P(x) = \sum_{n=0}^{m} P_n = P_{m+5} - 2.$$

The Fibonacci and Padovan sequences and identities in the above passage are available in [1–6,11–13,17,18,22,25].

2. ON THE QUINARY FIBONACCI-PADOVAN SEQUENCES

In this section, we aim to obtain a new sequence whose characteristic equation has the same roots as the characteristic equations of the Fibonacci and Padovan sequences. Then we will examine the situation of these new sequences in the initial conditions, find the Binet-like formula and reach the generating function, series, sum and binomial sum. Similar investigations were given in [16, 20, 23]. In [23] the quadra Pell numbers are defined and some properties are given. In [20] the Fibona-Pell integer sequence is defined and some algebraic identities are obtained. In [16] the Quadra Lucas-Jacobsthal Numbers were investigated.

Definition 2.1. The quinary Fibonacci-Padovan (or Fibona-Padovan) sequence $\{FP_n\}_{n\geq 0}$ is defined by a fifth order recurrence;

$$FP_{n+5} = FP_{n+4} + 2FP_{n+3} - 2FP_{n+1} - FP_n$$
(2.3)

with the initial conditions $FP_0 = 0$, $FP_1 = 1$, $FP_2 = 2$, $FP_3 = 4$ and $FP_4 = 8$.

A similar definition has been made in [7]. The first few members of this sequence are given as follow

n	0	1	2	3	4	5	6	7	8	9	10	
FP_n	0	1	2	4	8	14	25	43	73	123	205	

TABLE 2. The first few members of the quinary Fibonacci-Padovan sequence

We note that in Definition 2.1, if we take the initial conditions as follows we generate the Fibonacci and Padovan numbers.

n	0	1	2	3	4	Numbers
FP_n	0	1	1	2	3	Fibonacci numbers
FP_n	1	1	1	2	2	Padovan numbers

	TABLE 3.	The first fe	w members	s with the	different	initial	conditions
--	----------	--------------	-----------	------------	-----------	---------	------------

The characteristic equation associated to the recurrence relation (2.3) is

$$z^5 - z^4 - 2z^3 + 2z + 1 = 0. (2.4)$$

The roots of the equation (2.4) are the root in (1.1) and (1.2). Then the following equalities follow directly from Vieta's formulas

$$\alpha + \beta + \lambda + \delta + \gamma = 1$$
 and $\alpha \beta \lambda \delta \gamma = -1$.

Theorem 2.1. The Binet-like formula for the quinary Fibonacci-Padovan sequence is

$$FP_n = a_1\alpha^n + a_2\beta^n + a_3\lambda^n + a_4\delta^n + a_5\gamma^n,$$

where,

$$a_{1} = \frac{3\alpha + 2}{(\alpha - \beta)(\alpha - \lambda)(\alpha - \delta)(\alpha - \gamma)},$$

$$a_{2} = \frac{3\beta + 2}{(\beta - \alpha)(\beta - \lambda)(\beta - \delta)(\beta - \gamma)},$$

$$a_{3} = \frac{\lambda + \delta\gamma + 3}{(\lambda - \alpha)(\lambda - \beta)(\lambda - \delta)(\lambda - \gamma)},$$

$$a_{4} = \frac{\delta + \lambda\gamma + 3}{(\delta - \alpha)(\delta - \beta)(\delta - \lambda)(\delta - \gamma)},$$

$$a_{5} = \frac{\gamma + \lambda\delta + 3}{(\gamma - \alpha)(\gamma - \beta)(\gamma - \lambda)(\gamma - \delta)}.$$

such that α , β , λ , δ and γ are the roots of the characteristic equation of the quinary Fibonacci-Padovan sequence.

Proof.

$$\begin{split} F_0 &= a_1 + a_2 + a_3 + a_4 + a_5 = 0, \\ F_1 &= a_1 \alpha + a_2 \beta + a_3 \lambda + a_4 \delta + a_5 \gamma = 1, \\ F_2 &= a_1 \alpha^2 + a_2 \beta^2 + a_3 \lambda^2 + a_4 \delta^2 + a_5 \gamma^2 = 2, \\ F_3 &= a_1 \alpha^3 + a_2 \beta^3 + a_3 \lambda^3 + a_4 \delta^3 + a_5 \gamma^3 = 4, \\ F_4 &= a_1 \alpha^4 + a_2 \beta^4 + a_3 \lambda^4 + a_4 \delta^4 + a_5 \gamma^4 = 8. \end{split}$$

By the Cramer's rule or the Gauss-Jordan elimination method, we can easily compute the coefficients a_i 's of the system of linear equations above this completes the proof.

Theorem 2.2. The generating function for the quinary Fibonacci-Padovan sequence is

$$G_{FP}(x) = \sum_{n=0}^{\infty} FP_n x^n = \frac{x^2 + x}{1 - x - 2x^2 + 2x^4 + x^5}.$$

Proof. Let

$$G_{FP}(x) = \sum_{n=0}^{\infty} FP_n x^n = FP_0 + FP_1 x + FP_2 x^2 + FP_3 x^3 + \dots + FP_n x^n + \dots$$

be the generating function of the quinary Fibonacci-Padovan sequence. Multiply both of side of the equality by the term -x, $-2x^2 2x^4$ and x^5 , respectively, such as

$$\begin{aligned} -xG_{FP}(x) &= -FP_0x - FP_1x^2 - FP_2x^3 - FP_3x^4 - \dots - FP_nx^{n+1} - \dots \\ -2x^2G_{FP}(x) &= -2FP_0x^2 - 2FP_1x^3 - 2FP_2x^4 - 2FP_3x^5 - \dots - 2FP_nx^{n+2} - \dots \\ 2x^4G_{FP}(x) &= 2FP_0x^4 + 2FP_1x^5 + 2FP_2x^6 + 2FP_3x^7 + \dots + 2FP_nx^{n+4} + \dots \\ x^5G_{FP}(x) &= FP_0x^5 + FP_1x^6 + FP_2x^7 + FP_3x^8 + \dots + FP_nx^{n+5} + \dots \end{aligned}$$

Then, we write

$$(1 - x - 2x^{2} + 2x^{4} + x^{5})G_{FP}(x) = FP_{0} + (FP_{1} - FP_{0})x + (FP_{2} - FP_{1} - 2FP_{0})x^{2} + (FP_{3} - FP_{2} - 2FP_{1})x^{3} + (FP_{4} - FP_{3} - 2FP_{2} + 2FP_{0})x^{4} + (FP_{5} - FP_{4} - 2FP_{3} + 2FP_{1} + FP_{0})x^{5} \dots + (FP_{n} - FP_{n-1} - 2FP_{n-2} + 2FP_{n-4} + FP_{n-5})x^{n} + \dots$$

Now, by using the initial conditions of the quinary Fibonacci-Padovan sequence and

$$FP_n - FP_{n-1} - 2FP_{n-2} + 2FP_{n-4} + FP_{n-5} = 0,$$

we obtain that

$$G_{FP}(x) = \sum_{n=0}^{\infty} FP_n x^n = \frac{x^2 + x}{1 - x - 2x^2 + 2x^4 + x^5}.$$

Thus, the proof is completed.

The generating function of the quinary Fibonacci-Padovan sequence is the multiplication of the generating function of the Fibonacci and Padovan sequence as seen following,

$$G_F(x)G_P(x) = \left(\frac{x}{1-x-x^2}\right)\left(\frac{1+x}{1-x-x^3}\right) = \frac{x^2+x}{x^5+2x^4-2x^2-x+1} = G_{FP}(x)$$

Theorem 2.3. *The exponential generating function for the quinary Fibonacci-Padovan sequence is*

$$E_{FP}(x) = a_1 e^{\alpha x} + a_2 e^{\beta x} + a_3 e^{\lambda x} + a_4 e^{\delta x} + a_5 e^{\gamma x} = \sum_{n=0}^{\infty} \frac{FP_n}{n!} x^n$$

Proof. We know that,

$$e^{\alpha x} = \sum_{n=0}^{\infty} \frac{\alpha^n x^n}{n!}, \quad e^{\beta x} = \sum_{n=0}^{\infty} \frac{\beta^n x^n}{n!}, \quad e^{\lambda x} = \sum_{n=0}^{\infty} \frac{\lambda^n x^n}{n!}, \\ e^{\delta x} = \sum_{n=0}^{\infty} \frac{\delta^n x^n}{n!} \quad \text{and} \quad e^{\gamma x} = \sum_{n=0}^{\infty} \frac{\gamma^n x^n}{n!}$$

Multiplying each side of the identities, respectively, by a_1 , a_2 , a_3 , a_4 and a_5 and adding of them, we obtain that

$$E_{FP}(x) = a_1 e^{\alpha x} + a_2 e^{\beta x} + a_3 e^{\lambda x} + a_4 e^{\delta x} + a_5 e^{\gamma x}$$

= $\sum_{n=0}^{\infty} (a_1 \alpha^n + a_2 \beta^n + a_3 \lambda^n + a_4 \delta^n + a_5 \gamma^n) \frac{1}{n!} x^n$
= $\sum_{n=0}^{\infty} \frac{FP_n}{n!} x^n.$

Theorem 2.4. The series for the quinary Fibonacci-Padovan sequence is

$$S_{FP}(x) = \sum_{n=0}^{\infty} \frac{FP_n}{x^n} = \frac{x^4 + x^3}{x^5 - x^4 - 2x^3 + 2x + 1}$$

Proof. Let

$$S_{FP}(x) = \sum_{n=0}^{\infty} \frac{FP_n}{x^n} = FP_0 + \frac{FP_1}{x} + \frac{FP_2}{x^2} + \frac{FP_3}{x^3} + \dots + \frac{FP_n}{x^n} + \dots$$

be the series of the quinary Fibonacci-Padovan sequence. Multiply both of side of the equality by the term x^5 , $-x^4 - 2x^3$ and 2x respectively, such as

$$x^{5}S_{FP}(x) = x^{5}FP_{0} + x^{4}FP_{1} + x^{3}FP_{2} + x^{2}FP_{3} + \dots + \frac{FP_{n}}{x^{n-5}} + \dots$$
$$-x^{4}S_{FP}(x) = -x^{4}FP_{0} - x^{3}FP_{1} - x^{2}FP_{2} - xFP_{3} - \dots - \frac{FP_{n}}{x^{n-4}} - \dots$$
$$-2x^{3}S_{FP}(x) = -2x^{3}FP_{0} - 2x^{2}FP_{1} - 2xFP_{2} - 2FP_{3} - \dots - 2\frac{FP_{n}}{x^{n-3}} - \dots$$
$$2xS_{FP}(x) = 2xFP_{0} + 2FP_{1} + 2\frac{FP_{2}}{x} + 2\frac{FP_{3}}{x^{2}} + \dots + 2\frac{FP_{n}}{x^{n-1}} + \dots$$

Then, we write

$$(x^{5} - x^{4} - 2x^{3} + 2x + 1)S_{FP}(x) = FP_{0} + (FP_{1} - FP_{0})x^{4} + (FP_{2} - FP_{1} - 2FP_{0})x^{3} + (FP_{3} - FP_{2} - 2FP_{1})x^{2} + (FP_{4} - FP_{3} - 2FP_{2} + 2FP_{0})x + (FP_{5} - FP_{4} - 2FP_{3} + 2FP_{1} + FP_{0}) + \dots + (FP_{n} - FP_{n-1} - 2FP_{n-2} + 2FP_{n-4} + FP_{n-5})\frac{1}{x^{n-5}} + \dots$$

Now, by using the initial conditions of the quinary Fibonacci-Padovan sequence and

$$FP_n - FP_{n-1} - 2FP_{n-2} + 2FP_{n-4} + FP_{n-5} = 0,$$

we obtain that

$$S_{FP}(x) = \sum_{n=0}^{\infty} \frac{FP_n}{x^n} = \frac{x^4 + x^3}{x^5 - x^4 - 2x^3 + 2x + 1}.$$

Thus, the proof is completed.

The series for the quinary Fibonacci-Padovan sequence is the multiplication of the series for the Fibonacci and Padovan sequence as seen following,

$$S_F(x)S_P(x) = \left(\frac{x}{x^2 - x - 1}\right) \left(\frac{x^3 + x^2}{x^3 - x - 1}\right) = \frac{x^4 + x^3}{x^5 - x^4 - 2x^3 + 2x + 1} = S_{FP}(x)$$

Theorem 2.5. The sum of the first n terms of FP_n is

$$\sum_{i=0}^{n} FP_i = 2FP_{n+3} + 2FP_{n+2} - FP_{n+5} + 2, \quad n \ge 0.$$

 \square

Proof. We know that

$$FP_{n+5} = FP_{n+4} + 2FP_{n+3} - 2FP_{n+1} - FP_n$$

So,

$$FP_{n+5} - FP_{n+4} = 2FP_{n+3} - 2FP_{n+1} - FP_n$$

Applying to the identity above, we deduce that

$$FP_5 - FP_4 = 2FP_3 - 2FP_1 - FP_0,$$

$$FP_6 - FP_5 = 2FP_4 - 2FP_2 - FP_1,$$

$$FP_7 - FP_6 = 2FP_5 - 2FP_3 - FP_2,$$

$$FP_{n+3} - FP_{n+2} = 2FP_{n+1} - 2FP_{n-1} - FP_{n-2},$$

$$FP_{n+4} - FP_{n+3} = 2FP_{n+2} - 2FP_n - FP_{n-1},$$

$$FP_{n+5} - FP_{n+4} = 2FP_{n+3} - 2FP_{n+1} - FP_n$$

If we sum of both of sides of the identities above, we obtain,

. . . ,

$$FP_{n+5} - FP_4 = 2FP_{n+3} + 2FP_{n+2} - 2FP_2 - 2FP_1 - \sum_{i=0}^{n} FP_i.$$

Hence, we get the desired result.

3. CONCLUSION

In this paper, we define a new compound sequence as the Fibonacci-Padovan sequence. We prove that their characteristic equation is a multiplication of the characteristic equations of Fibonacci and Padovan. We show that by certain initial conditions from these sequences we derive all of the compound sequences: the Fibonacci and Padovan. We give the Binet-like formula for quinary Fibonacci-Padovan sequence. Finally, we obtain their generating functions, series and sums. Also, we see that the generating functions of these sequences arise from the multiplication of the generating functions of Fibonacci and Padovan sequences.

REFERENCES

- Boussayoud, A.; Kerada, M.; Araci, S.; Acikgoz, M. Symmetric functions of the k-Fibonacci and k-Lucas numbers. *Asian-Eur. J. Math.* 14(03) (2021) 2150031.
- [2] Cook C. K.; Bacon, M. R. Some identities for Jacobsthal and Jacobsthal-Lucas numbers satisfying higher order recurrence relations. Ann. Math. Inform. 41 (2013), 27–39.
- [3] Dişkaya, O.; Menken, H. On the Quadra Fibona-Pell and Hexa Fibona-Pell-Jacobsthal Sequences. MSAEN, 7 (2019), No.2, 149–160.
- [4] Dişkaya, O.; Menken, H. On the Split (s,t)-Padovan and (s,t)-Perrin Quaternions. Int. J. Appl. Math. Inform. 13 (2019), 25–28.
- [5] Dişkaya, O.; Menken, H. On the (s,t)-Padovan and (s,t)-Perrin quaternions. J. Adv. Math. Stud. **12**(2019),186–192.
- [6] Fayeab, B.; Lucab, F. Pell and Pell-Lucas numbers with only one distinct digit. Ann. Math. Inform. 45 (2015), 55–60.
- [7] Gogin, N. D.; Myllari, A. A. The Fibonacci-Padovan sequence and MacWilliams transform matrices. Program. Comput. Softw. 33 (2007), No. 2, 74–79.
- [8] Gwang-Yeon, L. k-Lucas numbers and associated bipartite graphs. *Linear Algebra Appl.* 320 (2000), No. 1-3, 51--61.
- [9] Harne, S.; Parihar, C. L. Some generalized Fibonacci polynomials. J. Indian Acad. Math. 18 (1996), No. 2, 251–253.
- [10] Harne, S.; Singh, B. Some properties of fourth-order recurrence relations. Vikram Math. J. 20 (2000), 79--8
- [11] Horadam, A. F. Jacobsthal representation numbers. Fibonacci Quart. 34 (1996), No. 1, 40–54.

 \boldsymbol{n}

- [12] İşbilir, Z. and Gürses, N., Pell-Padovan generalized quaternions. NNTDM 27 (2021), 171-187.
- [13] Kartal, M. Y. Gaussian Padovan and Gaussian Perrin numbers and properties of them. *Asian-Eur. J. Math.* **12(06)** (2019), 2040014.
- [14] Kilic, E.; Tasci, D. On the families of bipartite graphs associated with sums of Fibonacci and Lucas numbers. Ars Combin. 89 (2008), 31–40.
- [15] Kilic, E.; Tasci, D. On the second order linear recurrences by tridiagonal matrices. Ars Combin. 91 (2009), 11–18
- [16] Kızılateş, C. On the Quadra Lucas-Jacobsthal Numbers. Karaelmas Sci. Eng. J. 7 (2017), No. 2, 619-621.
- [17] Koshy, T. Pell and Pell-Lucas numbers with applications. Springer, New York, 2014.
- [18] Koshy, T. Fibonacci and Lucas Numbers with Applications Volume 1. John Wiley & Sons, New Jersey, 2018.
- [19] Koshy, T. Fibonacci and Lucas Numbers with Applications Volume 2. John Wiley & Sons, New Jersey, 2019.
- [20] Ozkoc, A. Some algebraic identities on quadra Fibona-Pell integer sequence, Adv. Difference Equ. 148 (2015), 10pp.
- [21] Sato, S. On matrix representations of generalized Fibonacci numbers and their applications, in Applications of Fibonacci Numbers, Vol. 5 (st. Andrews, 1992) (Kluwer Acad. Publ., Dordrecht, 1993), 487–496.
- [22] Soykan, Y. A study on generalized Jacobsthal-Padovan numbers. Earthline J. Math. Sci. 4(2) (2020), 227–251.
- [23] Tasci, D. On quadrapell numbers and quadrapell polynomials. Hacet. J.Math. stat. 38 (2009), No.3, 265–275.
- [24] Tekcan, A.; Özkoç, A.; Engur, M.; Ozbek, M. E. On Algebraic Identities On A New Integer Sequence With Four Parameters. Ars Comb. 127 (2016), 225–238.
- [25] Vieira, R. P. M., Alves, F. R. V.; Catarino, P. M. M. C. On the (s, t)-Padovan n-Dimensional Recurrences. Bull. Int. Math. Virtual Inst. 12(2) (2022), 387–395.

DEPARTMENT OF MATHEMATICS MERSIN UNIVERSITY DEPARTMENT OF MATHEMATICS MERSIN, TURKEY *Email address*: orhandiskaya@mersin.edu.tr *Email address*: hmenken@mersin.edu.tr